Exam.Code:09(g

Sub. Code: 6247
2063

B.E., (Computer Science and Engineering)
Second Semester

. CSC-202: Introduction to Computer Science
Time allowed: 3 Hours

Max. Marks: 50

NOTE: Attenfpt five questions in all, including Question No. I which is compulsory and
selecting two questions from each Section.

X-X-X
1. Attempt the following:-
a) Explain Turing Model.
b) Explain 2NF.
c) What is cardinality of relation?
d) Differentiate between LAN and WAN.
e) How many bytes will be there in a 20 GB hard disk?
f) What is data structure and file structure?
g) What are the ill-effects of computer viruses?
h) List out the main components of Motherboard.
i) Explain HTTP.
j) Explain virtual memory.
(1x10)
SECTION-A
2. a) Draw the block diagram of the digital computer and explain its various components.
b) List the important characteristics of third generation computers.
(06+04)
3. a) (110101.101010)2 = (?)s
b) (163.875)10= ("
c) (19B116)16= (M2
d) (756.603)s = (M6
€) (5DA2)16 = (?)s
f) (2598.675)10 = (?)16
) (110.10122= (Mo
h) (127.54)% = (Do
i) (2B.C4)16=(N1o
) Find (00001010)2 — (0011001 1)2 using 2's complement method. dxi)
X
4, a) Draw the internal design of a hard disk and explain its access mechanism.
b) Explain in brief various types of ROM.
(05+05)
SECTION-B
5. a) Explain all phases of Software Development ]_’roct?ss.
b) What is AI? Explain applications areas of Al in brief? (05+05)
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